Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

o
sturdfix

SN ITEM CODE DESCRIPTION FINISHING SIZE AVL
CHIPBOARD SCREW
1 |S109519 CHIPBOARD SCREW BZP 4X 16 v
2 |S109511 CHIPBOARD SCREW BZP 5X35 v
3 |S109512 CHIPBOARD SCREW BZP 5X50
4 |S109513 CHIPBOARD SCREW BZP 5X60 J
DOME NUT IRON DIN-1587
1 |S101025 IRON DOME NUT WIZIP 3/16 UNC v
2 |Slo1001 IRON DOME NUT wzp Mo3 v
3 |Slo1019 IRON DOME NUT WZP Mo3 o
4 |sl01002 IRON DOME NUT WZP Mo4
5 |SI01005 IRON DOME NUT wizp Vo8
6 |S101023 IRON DOME NUT PLAIN M10 Vv
7 |5101024 IRON DOME NUT PLAIN mi2 G
& |S101009 IRON DOME NUT WIP Mi14 v
9 |Sl01015 IRON DOME NUT wzp M18 v
10 |Sl01013 IRON DOME NUT 24 Wzp M24 o
DROP IN ANCHOR
1 |Slo4701 DROP IN ANCHORS wzp Mo06 v
2 |Sl04702 DROP IN ANCHORS WZP Mosg v
3 |slo4703 DROP IN ANCHORS WZp M10 Vv
4 |5104706 DROP IN ANCHOR WIP miz2 v
5 |Sl04704 DROP IN ANCHORS wzp Mi12 v
6 |S104705 DROP IN ANCHORS WZP M16 o
DRYWALL SCREW
1 |Sl09003 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (3.5 X19 v
2 |S109005 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (3.5 X32
3 |S109009 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (3.5 X50
4 |S109015 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (4.2 X100 v
5 |SI09012 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (4.2 X25 9
6 |S109013 DRYWALL SCREW PHILIPS DRIVE - (FINE THREAD) BLACK PHOSPHATED (4.2 X32 4
FLANGE NUT DIN-6923
1 |slo1101 IRON FLANGE NUT YZP Mo3 v
2 |Slo1102 IRON FLANGE NUT YZP Mo4 <
3 |Slo1103 IRON FLANGE NUT YZP Mo5
4 |Sl01107 IRON FLANGE NUT YZP M10
FLANGE NUT S5304
1 |S101120 IRON FLANGE NUT 55304 WzZp MO8 55304 ‘\/
FLANGE NYLOCK NUT DIN-6926
1 |Slo1801 IRON FLANGE NYLOCK NUT wzp Mo6 v
2 |Slo1802 IRON FLANGE NYLOCK NUT WZP Mos
3 |Slo1805 IRON FLANGE NYLOCK NUT WZP Mos8
4 |5l01803 IRON FLANGE NYLOCK NUT wzp M10 v
5 |Sl01806 IRON FLANGE NYLOCK NUT WZP Mi2
HEAVY HEX NUT ASME-A194 2H
1 |Sl02038 HEAVY HEX NUT ASTMA194 2H HARDENED BLACK 1" v
2 |S102026 HEAVY HEX NUT ASTMA194 2H NO HARDENED AND TEMPERED PLAIN 1" v

Page 1 of 8



Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

SN ITEM CODE DESCRIPTION FINISHING
3 |S102036 HEAVY HEX NUT ASTMA194 2H HARDENED BLACK 3/4" v
4 |S102035 HEAVY HEX NUT ASTMA194 2H HARDENED BLACK 5/8" v
HEX NUT 1SO4032
1 |S102006 HEX NUT CLASS 8 (HARDNESS 28-32 HRC)35K WHITE M16 v
2 |S102002 HEX NUT CLASS 8 (NO HARDENED AND TEMPERED) 10821 BLACK M16 J
3 |S102007 HEX NUT CLASS 8 (NO HARDENED AND TEMPERED) 35K BLACK M16 v
4 |sl02012 HEX NUT CLASS 8 PLAIN 10B21 PLAIN M18 v
5 |Sl02003 HEX NUT CLASS 8 (HARDNESS 28-32 HRC) BLACK M20
6 |S102004 HEX NUT CLASS 8 (HARDNESS 28-32 HRC) BLACK m22
7 |S102606 HEX NUT CLASS 8 NO HARD AND TEMPER PLAIN mM24 v
8 |S102013 HEX NUT CLASS8 NO HARDENED AND TEMPERED ENSD PLAIN M30 v
HEX NUT 1S04032 (MFG)
1 |S102024 IHEX NUT CLASS 8 NO HARDENED AND TEMPERED PLAIN M20
IRON NYLOCK NUT DIN-982
1 |S100034 IRON NYLOCK NUT wzp Mo3
2 |S100006 IRON NYLOCK NUT Wzp Mosg of
3 |S100007 IRON NYLOCK NUT WZP Mo8 v
4 |S100009 IRON NYLOCK NUT wzp M10 v
5 |S100010 IRON NYLOCK NUT WZP M10 v
6 |S100011 IRON NYLOCK NUT WZp M10 Vv
7 |S100013 IRON NYLOCK NUT WIP miz2
8 |SloDo15 IRON NYLOCK NUT wzp Mi12
9 |S100033 IRON NYLOCK NUT WZP mMi2
10 |S100016 IRON NYLOCK NUT WIP Mi4
11 [S100017 IRON NYLOCK NUT wzp M14 v
12 |slooo1g IRON NYLOCK NUT WzZprP M16 o
13 |S100019 IRON NYLOCK NUT. WZpP M16 v
14 |S100020 IRON NYLOCK NUT WIP M18 v
15 |S100022 IRON NYLOCK NUT WZP M20 J
16 |S100025 IRON NYLOCK NUT WZP M24 o
IRON NYLOCK NUT DIN-985
1 |Sl00251 IRON NYLOCK NUT wzp Mo3 v
2 |Slo0284 IRON NYLOCK NUT WZP Mo3 <
3 |S100253 IRON NYLOCK NUT Wzp Mo5
4 |5100254 IRON NYLOCK NUT wzp MO06
5 |S100256 IRON NYLOCK NUT WzP M10 V4
6 |S100257 IRON NYLOCK NUT Wzp M10
7 |S100260 IRON NYLOCK NUT WIP mi12
8 [SI00260L IRON NYLOCK NUT wzp Mi12
9 |Slo0263 IRON NYLOCK NUT WZP M14
10 |S100264 IRON NYLOCK NUT WZP M16 v
11 |[SI100265 IRON NYLOCK NUT wzp M16 v
12 |S100266 IRON NYLOCK NUT WZP Mi18 v
13 |S100267 IRON NYLOCK NUT WZP M20 v
14 |5100268 IRON NYLOCK NUT WIP M20 v
15 |S100290 IRON NYLOCK NUT WzP M20 v

Page 2 of 8




Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

SN ITEM CODE DESCRIPTION FINISHING

16 [S100270 IRON NYLOCK NUT wzp m24 J

17 [si00277 IRON NYLOCK NUT wzp M24 v

18 [si00283 IRON NYLOCK NUT wzp m27 o

19 [sio0273 IRON NYLOCK NUT wzP M30 v

20 (sio027a IRON NYLOCK NUT wzp M30 4
NYLOCK NUT BSF

1 [(sioos02 IRON NYLOCK NUT wWzP 1/2 BSF Vv

2 [siooso1 IRON NYLOCK NUT wzp 3/8 BSF 7 4
NYLOCK NUT BSW

1 [sioo706 IRON NYLOCK NUT WzP 1/2 BSW 4

2 |[sloo708 IRON NYLOCK NUT WzP 3/4 BSW J
NYLOCK NUT DIN-982 SS304

1 [sioo287 [mom NYLOCK NUT 55304 $5304 |M5 o
NYLOCK NUT UNC

1 [sl00513 IRON NYLOCK NUT wzP 1 UNC v

2 [sioos08 IRON NYLOCK NUT wzp 1/2 UNC o/

3 [sio0s03 IRON NYLOCK NUT wzp 1/4 UNC

4 |s100501 IRON NYLOCK NUT wzp 3/16 UNC 4

5 [sioo511 IRON NYLOCK NUT wzp 3/4 UNC v

6 [sio0505 IRON NYLOCK NUT wzp 3/8 UNC ol

7 |sioos10 IRON NYLOCK NUT wzp 5/8 UNC v

8 [sloos06 IRON NYLOCK NUT wzp 7/16 UNC v

9 [sioos07 IRON NYLOCK NUT wzp 7/16 UNC

10 [si00516 IRON NYLOCK NUT wzP 7/16 UNC v

11 [slo0512 IRON NYLOCK NUT wzp 7/8 UNC v

12 [si00509 IRON NYLOCK NUT wzp 9/16 UNC o
NYLOCK NUT UNF

1 [sioo610 IRON NYLOCK NUT wzp 1 UNF f

2 [siooe0s IRON NYLOCK NUT wzp 1/2 UNF

3 [siooe08 IRON NYLOCK NUT wzp 3/4 UNF J

4 |S100603 IRON NYLOCK NUT wzP 3/8 UNF v

5 [slooe02 IRON NYLOCK NUT wzp 5/16 UNF v

6 [siooe07 IRON NYLOCK NUT wzp 5/8 UNF g

7 |[siooe04 IRON NYLOCK NUT wzp 7/16 UNF v

8 [sio0609 IRON NYLOCK NUT WZP 7/8 UNF Vi

9 [sio0e06 IRON NYLOCK NUT wzp 9/16 UNF of
RIVET NUT WzP

11 [si03209 RIVET NUT REDUCE HD KNURLED BODY wzP Mo3 v

12 (si03401 RIVET FLAT HD HALF HEX BODY wzp Mo04 J

13 [si03402 RIVET FLAT HD HALF HEX BODY wzp Mo6 v

14 [si03212 RIVET NUT REDUCE HD KNURLED BODY wzp M06

15 [s103403 RIVET FLAT HD HALF HEX BODY wzp Mos8

16 [si03206 RIVET NUT REDUCE HD KNURLED BODY wzp Mos v
RIVET NUT YZP

1 [sio3015 RIVET NUT FLAT HD KNURLED BODY YzZP MO06

2 [si03202 RIVET NUT REDUCE HD KNURLED BODY YZP Mo6

Page 3 of 8




Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

sturdfix

SN ITEM CODE DESCRIPTION FINISHING
3 |Sl03203 RIVET NUT REDUCE HD KNURLED BODY YZP Mo8 v
4 |S103006 RIVET NUT FLAT HD KNURLED BODY YZp M10
SDS CSK/FLAT
1 |S107001 CSK/FLAT HEAD SDS-PHILLIPS DRIVE wizp 3.5X13
2 |Sl07004 CSK/FLAT HEAD SDS-PHILLIPS DRIVE WzP 3.5X25 i
3 |S107005 CSK/FLAT HEAD SDS-PHILLIPS DRIVE WZP 3.5 X32 v
4 |Sl07008 CSK/FLAT HEAD SDS-PHILLIPS DRIVE WIZP 3.9X25
5 |Slo7013 CSK/FLAT HEAD SDS-PHILLIPS DRIVE wzp 4,2 X32 v
SDS HEX FLANGE HEAD
1 |S106507 HEX FLANGE HEAD SDS-WITH WASHER TYPE 4 DRILLING POINT WZP 5.5 X100 v
2 |S106501 HEX FLANGE HEAD SDS-WITH WASHER TYPE 4 DRILLING POINT WZP 5.5 X25 J
3 |S106502 HEX FLANGE HEAD SDS-WITH WASHER TYPE 4 DRILLING POINT WZP 5.5 X35 v
4 |S106503 HEX FLANGE HEAD SDS-WITH WASHER TYPE 4 DRILLING POINT Wzp 5.5 X45 G
5 |S106506 HEX FLANGE HEAD SDS-WITH WASHER TYPE 4 DRILLING POINT WIP 55X75 &
SDS PAN HEAD
1 |Slogool PAN HEAD SDS-PHILLIPS DRIVE WzZp 3.5X19 o
2 |Slo8002 PAN HEAD SDS-PHILLIPS DRIVE WZP 3.5X25 v
3 |Sl08004 PAN HEAD SDS-PHILLIPS DRIVE wzp 42 X25 N
4 |SI02005 PAN HEAD SDS-PHILLIPS DRIVE WZP 4.2 X32 v
SDS TRUSS HEAD
1 |S108503 TRUSS HEAD SDS-PHILLIPS DRIVE WIP 4.2 X25
S108504 TRUSS HEAD SDS-PHILLIPS DRIVE wzp 4.2 X32 N
3 |S108505 TRUSS HEAD SDS-PHILLIPS DRIVE WZP 4.2 X38 o
SOCKET HEAD BS 2470
1 |SI116553 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 1/2X312 |V
2 |S116505 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 1/ax1-1/4 |V
3 |S116508 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 1/4 X 1-1/4
4 |Sl116502 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 1/4X3/4 v
5 |SI17503 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3/8X2-1/2 |/
6 |SI17504 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3/8x3-1/2 |V
7 |SI17006 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16 X 1-1/2
8 |SI17004 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16X1-1/4 |/
9 |SI17008 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16 X 2 v
10 |S117007 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16 X 2-1/2 |/
11 |SI17005 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16X2-1/4 |/
12 |S117009 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16 X 2-1/4 |/
13 |SI17011 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/16 X 3 v
14 |SI117533 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/8X1 v
15 |[SI117529 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/8X2 v
16 |SI17534 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/8X21/2 |V
17 |SI17526 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/8X3 v
18 |[SI17535 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5/8X41/2 |V
SOCKET HEAD DIN7991
1 |S117704 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X50 v
2 |SI17705 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X60 v
3 |SI17541 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X10 Vv

Page 4 of 8



Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

sturdfix

SN ITEM CODE DESCRIPTION FINISHING
4 |S117542 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X12 N4
5 |SI17543 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X16 v
6 |SI17544 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X20 v
7 |SI17545 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X25 v
8 |SI17553 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X20
9 |SI17554 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X25 v
10 |S117606 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X20 v
11 (SI17603 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X40 v

SOCKET HEAD SCREW DIN912
1 |Ssi12521 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X100
2 |SI12525 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X140 J
3 |SI12526 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X150 v
4 |S112513 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X25 o
5 |S112503 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X30
6 |SI112516 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X50 v
7 |Sl12518 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X60 o
8 |S112519 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 10X80 v
9 |SI113020 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X100 Vv
10 |Si13021 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X125 v
11 |SI13024 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X150 v
12 |S113031 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X170 v
13 |[SI13033 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X200 v
14 |S113001 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X25
15 |Si13011 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X25
16 |SI113012 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X30 v
17 |S113015 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X50 f
18 |S113019 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 12X80 v
19 |SI13551 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 14X 30 v
20 |SI13552 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 14X 35 J
21 |S113559 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 14X 40 4
22 |S113553 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 14X 45 v
23 |[S113554 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 14X 50 v
24 |S114017 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X100 v
25 |S114019 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X120 v
26 |S114020 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X125 v
27 |S114007 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X140 V4
28 |S114027 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X25 v
29 |S114009 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X40
30 (5114010 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X45 v
31 |Si14011 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X50 v
32 |Si14012 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X55 v
33 |SI14025 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X70 v
34 |S114002 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X75 v
35 |S114015 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 16X75 v
36 |S115004 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 20X100 v
37 |S115002 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 20X140 v

Page5 of 8



Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

SN ITEM CODE DESCRIPTION FINISHING
38 |[SI15013 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 20X200 N4
39 |S115005 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 20X80 v
40 |S115014 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 20X90 v
41 |SI110003 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X12 v
42 |S110004 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X16 i
43 |S110005 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X20 v
44 |5110006 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X25 v
45 |S110008 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X40 Vv
46 |S110001 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 3 X8 o
47 |S110503 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4X12
48 |SI110504 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4X16 J
49 |S110506 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4 X 25 v
50 |S110507 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4X30
51 |S110508 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4 X 30 v
52 |S110510 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4 X35 v
53 |S110509 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4 X 40 of
54 |S110513 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4 X 45 v
55 [SI110501 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 4X8 v
56 |Si11001 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X10 v
57 |si11012 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X14 Vv
58 |SI11006 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X30 v
59 |SI11007 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X35 v
60 |Sl11008 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X40 o
61 |S111010 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 5X50 v
62 |SI111503 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X14 v
63 |S111527 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X18 f
64 |S111533 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X200 v
65 |SI11520 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X30 v
66 |SI11521 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X35
67 |SI11509 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X40
68 |SI11525 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X40 NG
69 [SI111513 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X65 v
70 |SI11515 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 6X75 v
71 |S112034 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X140 v
72 |S112015 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X16 v
73 |S112027 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X35 v
74 |S112007 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X45
75 |S112021 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X50 v
76 |S112022 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X55 v
77 |S112023 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8Xe0 v
78 |S112035 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X65 v
79 |[S112024 SOCKET HEAD CAP SCREW -ALLEN BOLT BLACK 8X70 v
SPRING WASHER FLAT DIN127B OR 1S3063B
1 |Sl05701 SPRING WASHER BLACK Mo3
2 |S105703 SPRING WASHER BLACK Mo5
3 |SI05705 SPRING WASHER BLACK Mos8 Vv

Page 6 of 8




Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

SN ITEM CODE DESCRIPTION FINISHING
4 |Sl05726 SPRING WASHER PLAIN mz27 J
5 [s105730 SPRING WASHER PLAIN M39
6 [S105732 SPRING WASHER PLAIN M45 v
SPRING WASHER SQUARE DIN7980
1 [si05801 SPRING WASHER BLACK Mo3 i
2 [si05802 SPRING WASHER BLACK Mo04 v
3 [sl05803 SPRING WASHER BLACK MO5 v
4 |(S105804 SPRING WASHER BLACK Mo6 7 4
5 [sio5405 SPRING WASHER EN42 H&T GZP Mos8 J
TEE NUT DIN1624
1 [sioLs05 IRON TEE NUT WzP 1/4 UNC NG
2 [sio1507 IRON TEE NUT wzp 1/4 UNC v
3 [sio1506 IRON TEE NUT wzp Mo4 o
4 |sio1503 IRON TEE NUT WZP MO8 &l
WASHER FOR NYLOCK NUT
1 [sio0061 INSERT NUT WASHER 10 MM (14.40x8.85x2.35) M10 o
2 [slo0072 INSERT NUT WASHER 12 MM (16.50x11.0x2.80) Mi2 v
3 |SI00066 INSERT NUT WASHER 12 MM (16.5x10.8x2.8) Mi12
4 [sio0063 INSERT NUT WASHER 14 MM (19.25x12.8x3.50) M14
5 [sioo070 INSERT NUT WASHER 08 MM (10.75x7.05x1.95) M8 v
WEDGE ANCHOR
1 |Sl04006 WEDGE ANCHOR WzP 10X 120 V4
2 [sios036 WEDGE ANCHOR BWZP 10X 120 o
3 [sios008 WEDGE ANCHOR Wzp 10X 150 v
4 |S104009 WEDGE ANCHOR WZP 10X 200 v
5 [sios004 WEDGE ANCHOR wzp 10X 75 f
6 [sl04011 WEDGE ANCHOR wzp 12X 100 v
7 [sios038 WEDGE ANCHOR wzp 12X120
8 [siod043 WEDGE ANCHOR WzP 12X 120 J
9 [sioso1e WEDGE ANCHOR Wzp 12X 150 N 4
10 [sio4017 WEDGE ANCHOR WzP 12X 200 v
11 |Slo4010 WEDGE ANCHOR WzpP 12X75 v
12 (sios018 WEDGE ANCHOR wzp 16 X 100 v
13 [sio4019 WEDGE ANCHOR Wwzp 16 X 125 v
14 (si03022 WEDGE ANCHOR wzpP 16 X 250 v
15 [s104023 WEDGE ANCHOR wzp 16 X 300 J
16 [si03024 WEDGE ANCHOR wzp 20X 150 v
17 [sio4026 WEDGE ANCHOR WZP 20X 250 v
18 |S104027 WEDGE ANCHOR WzP 20X 300 J
19 [sios029 WEDGE ANCHOR wzp 24X 200 v
20 (sio4031 WEDGE ANCHOR wzp 24X 300 v
21 |slo4002 WEDGE ANCHOR wzp 8 X 100 v
22 [sio4003 WEDGE ANCHOR wzp 8 X 120 v
23 [sios001 WEDGE ANCHORS wzP 8X75 v
WELD NUT DIN929 (MFG)
1 [sioo402 SQUARE WELD NUT PLAIN MO06 ‘J

Page 7 of 8




Sturdfix™ SINGHANIA INTERNATIONAL LIMITED

SN ITEM CODE DESCRIPTION FINISHING SIZE
WING NUT DIN315
1 [sio1e01 IRON WING NUT wzp Mo4 v
2 [sio1602 IRON WING NUT wzp MO5 o
3 [sio1609 IRON WING NUT wzP M10 v
4 |S101606 IRON WING NUT wzp M12 4
5 [sio1607 IRON WING NUT wzp M14 " 4
6 [slo1608 IRON WING NUT wzP M16 Vv
7 [sio1610 IRON WING NUT wzp M16 7 4
WING NUT INCH DIN 315
1 [sio1704 IRON WING NUT WzP 1/2 UNC 4
2 |[slo1707 IRON WING NUT WzP 1/4 UNC J
3 [sio1705 IRON WING NUT wzp 3/16 UNC N
4 |sl01706 IRON WING NUT wzp 3/16 UNC N
5 [sio1708 IRON WING NUT wzP 3/8 UNC v
6 [slo1702 IRON WING NUT wzp 5/16 UNC Vi
2
-]

FASTENERS & FIXINGS

Contact For More Details
Sturdfix™ Singhania International Limited C-25 Phase-1 Focal Point Dhandari Kalan
Ludhiana Punjab -141010
Ph +91-161-4611418, 4637918 Mob : +918427486918, +91 9872581418
email id: sturdfix@singhaniainternational.com
Website: https://www.sturdfix.com

Page € of 8



